Result:

Part 1 

	Iodine test

	A  
	No change in colour 

	B  
	Colour change from brown to dark blue

	C  
	Colour change from brown to dark blue

	D  
	Colour change from brown to dark blue

	E  
	No change in colour

	F  
	No change in colour


Part 2

	Benedict’s test

	A  
	Brick red precipitates formed

	B  
	No change

	C  
	No change

	D  
	Brick red precipitates formed

	E  
	No change

	F  
	Brick red precipitates formed


Part 3

	Added with invertase solution followed by benedict’s test

	A  
	Brick red precipitates formed

	B  
	Brick red precipitates formed

	C  
	No change

	D  
	Brick red precipitates formed

	E  
	Brick red precipitates formed

	F  
	More amount of brick red precipitates formed


Discussion:
In this experiment, stock solutions A to F were test with iodine solution. B, C and D showed positive results of iodine test. The colour of the solution changed form brown to dark blue. So solution B, C and D might contain starch. 
Stock solutions A to F were test with benedict’s solution. A, D, F showed positive results of Benedict’s test. Brick red precipitates formed. Therefore, A, D, F might contained glucose, reducing sugar. 

1ml of each stock solution were added to 1ml invertase solution (1%) and waited for 20 minutes. Invertase could break down sucrose into glucose. The mixtures were then tested with Benedict’s solution. Stock solutions A, B, E, D, and F showed positive results of Benedict’s test. Brick red precipitates formed. Therefore, A, D, F might contained sucrose which was broken down by invertase into glucose. 
The over all results of part 1, 2 and 3
	
	Part 1
	Part 2
	Part 3

	A
	-
	+
	+

	B
	+
	-
	+

	C
	+
	-
	-

	D
	+
	+
	+

	E
	-
	-
	+

	F
	-
	+
	+


The amount of precipitates formed in solution F in part 3 is more than that formed in part 2. Therefore solution F contained sucrose and glucose. 
According to the table, solution E showed negative results in part 1 and part 2, but it showed a positive result in part 3. Thus solution E contained no starch and glucose, but sucrose only. 
Solution A showed positive results in part 2 and part3. The amount of precipitates formed is the same. Thus solution A contained glucose only. 
Solution B showed a positive result in part 1, so it contained starch. It also showed a positive result in part 3, so it contained sucrose. Thus solution B contained both starch and sucrose
Solution C only showed a positive result in part 1, so it contained starch only. 

Solution D showed all positive results in part 1, 2 and 3. the amount of precipitates formed in part 2 and 3 is the same. Thus solution D contained starch and glucose. 
Conclusion:
After the experiment, the stock solutions could be identified:
	A
	Glucose 

	B
	Starch and sucrose

	C
	Starch 

	D
	Starch and glucose

	E
	Sucrose 

	F
	Glucose and sucrose


